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Algebra 1: Unit 1 Review

Study Guide

Be able to...

Solve and graph multi-step inequalities (Sections 6.1 & 6.2)

Solve and graph compound inequalities (Section 6.3)

Solve absolute value equations {Section 6.4)

Solve absolute value inequalities {Section 6.4)

Set up equations and inequalities from real life scenarios {applications)
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Solve the following inequalities and graph the solutions.
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Solve the following inequalities and graph the sclutions.

13. —x+6>—2x+4)

16. —2x+2 < -12

14. Lx+3<7
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Write a compound inequality that represents the statement.

19. xisless than 8 and greaterthan2

J < x—:?]

20. xislessthan —1 and at least —5
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21. x isgreater than 6 or less than 5

Solve the following inequalities and graph the solutions.
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Solve the following inequalities and graph the solutions.
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Solve the foliowing absolute value equations.

28. |x] =21
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25. 2x+7 <3 or 5x+5=10
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Solve the following absolute value inequalities and graph the solutions
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36. You are going to a Phillies game this spring. The ticket costs S31 Popcorn costs $4.25 per box. You have

$60 in your wallet,
} Write an equation that models this scenario

425 %x + 21 = 60O

b.) Solve the equation. How many boxes of popcorn will you be able to afford if you want to spend all

of your money?

.28 K+ 2\ = O
-3z -3
d2g ko= 24
425— 1-'{.25‘
(. 82 ((g bif‘?.:;‘



